2022F £ H % LB BB A KB AL

[

2(z+z:]+j[z—?):4+6i’ mu2= O

L-2|
1428
141
1-i

O 0T >

2.
DanmasS=lsls=2r+1ncZl T="de=d4n—1ncZl psnT=.(Y

A @
B. §
c. T
D. Z
3

Ay Epax € Rsine< 1, gymiqVe CR M1 M FH@@ e NEAEIE O
A. #Ahg

B. gfhg

C. g

D. —ipvaqgl

4,

wmsl P ST, MFARSRRTEENE O
A, faon)-1

B. Ax2i+1

c/ Rz + 111

D. la+1)+1

5.
FEEHEABLO=AE &0 pBiDigydn v, MBERPESY iR O

A.

=2 &ld w3 e

B
C.
D
6

RSB RLA RS EREDEBERIE K. BIEEW . IKERFIKEZANIE BT E)I, B4 SR
ERAPEIANLE, BMHEESEILEREE, WARKSRTREIEE O




